BLACK HORSE
OFF ROAD

INSTALLATION INSTRUCTIONS

EXCEED RUNNING BOARD
FOR
KIA SORENTO 2021-2022
PART # EX-K470

Page 1 of 4




NO. | QTY PICTURE NO. | QTY PICTURE NO. | QTY PICTURE
\im E, i
@ 1 @ 2 — @ | 2
Middle bracket (L/R)
~ ~
@ iz |©|2 SNICIE
—— N J
Front bracket (R) Connect plate
T, % =
- }\\'\__ o
AN &4
@ 6 R hQ 6 \/ @ 8 =t
T Bol M10x40 H
olttype 5 (M10x40 Hex M10 Plastic retainer Hex nut M10
Bolt)(60x16-15-5)(for ®22-24 hole)
L ( = " Il.-z .:_.-" —__\‘ H'.‘
8 , @ | 8 N @ | 17
Lock her D10
ock washer Flat washer D10 (10x30x2.5mm)
[ ( T
% : o~ : /o |'J - __"' i
@] 2 { 2 0 @® | 2 |

A

Hex bolt (full thread) M6_30

Hex bolt (full thread) M8_30

Flat washer D8 (8x24x2mm)

Page 2 of 4




17 ) @ | 15 2

Lock washer D8

Lock washer D6 Hex nut M6
12 T
T Bolt M6x20
Installation Figure:
Car head

/

Exafgzloxllj

—

N

/[ 12716717 }

@/5/9,”0/11

12712716

Page 3 of 4




Step 1: Verify all parts are present.

Step 2: Install the brackets and running board on the bottom of vehicle as above picture.

Step 3: Check the running board if it install correctly, then tighten all the hardware.
Step 4: Installation finished.

Complete Installation:

Page 4 of 4




